

11

۲

7

7

۲۴

5

$$\log_a r = 1/5, \log_r r = 1/4, \log_4 1/5$$

$$\log_4 1/5 = \frac{\log_r 1/5}{\log_r 4} = \frac{\log_r r + \log_r r}{\log_r a + \log_r r} = \frac{1/4 + 1}{1/5 + 1} = \frac{1/4}{5/4} = \frac{1}{5} = 0.2$$

$$\log_{1/\lambda} 1/\lambda = m \rightarrow \log_{1/r} 1/r = ?$$

$$\log_{1/\lambda} 1/\lambda = \log_{1/r \times r^r} 1/\lambda = \log_{1/r} 1/\lambda + r \log_{1/\lambda} 1/r = \log_{1/r} 1/r + r \log_{1/\lambda} 1/r = m \rightarrow \frac{1}{r} \log_{1/r} 1/r + r \log_{1/\lambda} 1/r = m$$

$$\rightarrow r \log_{1/\lambda} 1/r = m - \frac{1}{r} \rightarrow \log_{1/\lambda} 1/r = \frac{m}{r} - \frac{1}{r^2}$$

$$\log_{1/r} 1/r = \frac{\log_{1/\lambda} 1/r}{\log_{1/\lambda} 1/\lambda} = \frac{\log_{1/r} 1/r + \log_{1/\lambda} 1/r}{\log_{1/r} 1/r} = \frac{\frac{1}{r^2} + \frac{m}{r} - \frac{1}{r^2}}{\frac{1}{r^2}} = \frac{1}{r} + \frac{m}{r} = \frac{(m+1)}{r}$$

$$(0/r)^{r^x-1} = \left(\frac{1/r}{\lambda}\right)^{x^r} \rightarrow \left(\frac{r}{\lambda}\right)^{r^x-1} = \left(\frac{a}{r}\right)^{x^r} \rightarrow \left(\frac{a}{r}\right)^{1-r^x} = \left(\frac{a}{r}\right)^{x^r}$$

$$\rightarrow x^r - r^x - 1 = 0 \xrightarrow{b=a+c} \begin{cases} x = -1 \\ x = \frac{1}{r} \end{cases} \rightarrow \log_{1/\lambda} (9x+1) \xrightarrow{x=\frac{1}{r}} \log_{1/\lambda} \frac{r}{r} = \frac{r}{r}$$

$$\log_r r = a, \log_{1/\lambda} b = \frac{r}{r}(1+a)$$

$$\log_{1/\lambda} b = \log_{1/r} b = \frac{r}{r}(1+a) \rightarrow \frac{1}{r} \log_{1/r} b = \frac{r}{r}(1+a) \rightarrow \log_{1/r} b = r + \log_{1/r} r$$

$$\log_{1/r} b - \log_{1/r} r = r \rightarrow \log_{1/r} \frac{b}{r} = r \rightarrow \frac{b}{r} = r \rightarrow b = r^2$$

$$\log (r^2 r - 1) = \log r^2$$

$$-f a x^r + b x + \frac{1}{r} c = 0$$

$$s = x_1 + x_r \rightarrow \frac{1}{s} = \frac{1}{x_1 + x_r} = r \log r \rightarrow \frac{1}{b} = \frac{f a}{b} = x \log r \rightarrow$$

$$\frac{r a - c}{r a} = \log_{1/r} 1 \rightarrow 1 - \frac{c}{r a} = \log_{1/r} 1 \rightarrow \frac{c}{r a} = 1 - \log_{1/r} 1 \xrightarrow{x^r} \frac{c}{a} = r - \log_{1/r} 1$$

$$\left(\frac{1}{\sqrt[r]{r}}\right)^{\frac{c}{a}} = \left(\frac{1}{\sqrt[r]{r}}\right)^{r - \log_{1/r} 1} = \left(r^{\frac{1}{r}}\right)^{-r \log_{1/r} 1} \rightarrow \left(\frac{1}{r}\right)^{\frac{1}{r}} = \left(\frac{r}{a}\right)^{\frac{1}{r}}$$

$$\left(a^r\right)^{\frac{1}{r}} = a^{\frac{1}{r}} = \sqrt[r]{a}$$